Disequazioni di secondo grado

Algebra
1| 7x2 >0 R
2 | 8x2>0 R
3 | =2x2>0 impossibile
4 | —4x2 >0 impossibile
5 | —2x2>0 x=0
6 | —3x2>0 x=0
7 | —6x2 <0 R
8 | —5x2<0 R
5 2
9 | —=x“<0 R — {0}
3
4
10 | ——x2<0 R — {0}
5
11 2 2 >0 0
——xc > X =
7
12 3 2> 0
——X = X =
5
13 1 2> R
_x =
3
14 1 2>0 R
_x =
2
5 ) .
15 §x2 <0 impossibile
7 . .
16 Exz <0 impossibile
2 3
17 | 2x+3)2>0 R—{—E}
2 2
18 | (5x+2)*>0 R—{—g}
19 | (Bx—4)><0 impossibile
20 | (4x—5)2 <0 impossibile
21 | (x+3)*<0 x=-3
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22 | (x+2)2<0 X=-2
23 | x24+2x<0 —2<x<0
24 | x24+3x<0 —3<x<0

25 | x2—-5x>0

x<0vx=5

26 | x2—4x>0

x<0vx=4

3 2
27 | —=x—=—1>0

4 impossibile
2 2

28 —gx -1>0 impossibile

29 | —9x2 —4<0 R

30 | —4x2—25<0 R

31 [ —3x2-1<0 R

32 |9x24+25>0 R

33 | 4x>+49>0 R

34 | x2—64>0

35 |x2—-81>0

36 | 32—2x%2>0 —4<x<4
37 [27=3x*2>0 —3<x<3
2 1
38 | —3x*—x<0 xS—§Vx>0
2 1
39 | =5x“—x<0 x<—§Vx20
2 1
40 |3x“+2x—1=>0 x<—1Vx2§

41 [ 4x2—6x+2=>0

2 | 6x2—-5x+2<0

impossibile
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Disequazioni di secondo grado

43 [3x2—-6x4+4<0 impossibile
4 | 2x—x%2—-1<0 x=1
45 | 4x —x2—-4<0 x =2
46 | x> —x+5>0 R
47 | x2+x+4>0 R
# | 2x2 +13x +6 <0 6<x<—3
) 1 1
49 |8x—6x+1<0 —<x<=
4 2
50 | x2—10x+25<0 impossibile
51 | x2—14x+49<0 impossibile
52 [2(1—3x)+3(2x“+1)<5x+2 3S*<3
53 | 3(1— 2x) + 2(1 + 3x%) — 5x < 2 ssrs
54 |5—2(x+1)? >8x+13 S5<x< -1
55 |11 —2(x +2)? > 4x + 13 S5<x< -1
56 | 22— 1)(2+ %) —5(+ 1)(x - 1) — 13x < 11 xs-2vrzs
57 | 5(1—x)(1+x) — 11 < 13x = 2(2 — x)(2 + %) xs-2vrzs
o | ( 2)(1 )< 2+ 2(1-2) <3vxz2
——)(1- — — <-vx>
X=3 X) <3 X X<V
2 2 5
9 | 1-x)x-2)<=-1-x)+= x<-Vx=>2
3 3 3
o 1_(x+1)(2x+1)<(1—4x)(x+2) —Zstl
3 2 8
o (4x—1)(x+2)_(x—2)(2x+1)Szx —Zstl
2 3 8
X A1-x)0+x) (x+Dxx-3) 3+x 6
62 | —(3x+1) + + > x<-—-1vx>—
3G+ 1) 4 12 3 5
(x+1D(x-3) x 342x (x+1D(x-1) 6
63 Z0GBx+2)> <—-1vx>-—
12 T30x+2)>——+ 4 * *75

v3l

© 2016 - www.matematika.it

3di4
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2 _
ot | X 120 —1<x<1vx>2
X —2
2 _
65 X 420 —2<x<1lvx>2
x—1
X —2
66 <0 x<-1vli<x<2
x2—1"
x—1
67 0 x<-2Vv1<x<2
x2 —4
2
e | 2% S 3<x<-1vi<x<3
x2—1
2 _
6 | X 1_0 —2<x<-1vi<x<2
4 — x?
2
o | 2XXT —3<x<0
x2 + 3x
2
| AEXT —2<x<0
x2 + 2x
2 _
n | XTI —2<x<0V2<x<5
4 — x2
x% —2x
B | —>0 —3<x<0v2<x<3
9 — x2
2 _
| X1 ) —1<x<1
_x2_2
2 _
s | X TF 4>0 —2<x<2
_x2_3
x%+2
76 <1 —2<x<2
x2 —4
x%+3
77 <1 —3<x<3
x2 -9
3(5x —17)
78 | — >3 2<x<3Vv5<x<9
x2 —T7x+ 10
a2
o |3(XT—7x+14) 1<x<1v3<x<4
x2 —7x+ 12
3(6 —x?) —14x 3x—10 1 11
80 < + x<-V-<x<2Vx>3
x2 —-5x+6 x—3 x—-2 3 2
10—-3x 15 3(x2+1)+21 11
81 — < Xx<-V-<x<2vx>3
x—3 x-2 x2—-5x+6 32
x—5 4 1+x
82 < — 0<x<2V3<x<5
x2—5x+6 " x—3 x-—2
x—4 5 1
83 < — 0<x<2Vv3<x<5
x—3 x2—-5x+6 x-—2
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